

# CERTAIN SUBCLASS OF BI-UNIVALENT FUNCTIONS DEFINED BY $q$ -DERIVATIVE OPERATOR INVOLVING POISSON DISTRIBUTION

P. NANDINI<sup>1\*</sup>, S. LATHA<sup>1</sup>, §

**ABSTRACT.** In this paper, by using the  $q$ -derivative operator, we define a new subclass of bi-univalent functions involving Poisson distribution series associated with Horadam polynomials. We find estimates for the general Taylor-Maclaurin coefficients and also Fekete-Szegő problem for this class.

**Keywords:** Univalent and Bi-univalent functions, Fekete-Szegő inequality, Poisson distribution, Horadam polynomials and  $q$ -derivative operator.

**AMS Subject Classification:** Primary 11B39, 30C45, 33C45, Secondary 30C50.

## 1. INTRODUCTION

Let  $\mathcal{A}$  denote the class of the functions  $f$  of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1)$$

which are analytic in the open unit disc  $\mathbb{D} = \{z \in \mathbb{C}; |z| < 1\}$  and satisfy the normalization condition  $f(0) = f'(0) - 1 = 0$ .

Let  $\mathcal{S}$  be the subclass of  $\mathcal{A}$  consisting of functions of the form (1) which are also univalent in  $\mathbb{D}$ . According to the Koebe's one-quarter theorem [2], every function  $f \in \mathcal{S}$  has an inverse  $f^{-1}$  defined by

$$f^{-1}(f(z)) = z \quad (z \in \mathbb{D})$$

and

$$f(f^{-1}(w)) = w \quad \left( |w| < r_0(f); r_0(f) \geq \frac{1}{4} \right),$$

where

$$g(w) = f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2 a_3 + a_4)w^4 + \dots \quad (2)$$

A function  $f \in \mathcal{A}$  is said to be bi-univalent in  $\mathbb{D}$  if both  $f$  and its inverse  $f^{-1}$  are univalent in  $\mathbb{D}$ . Let  $\Sigma$  denote the class of bi-univalent functions in  $\mathbb{D}$  given by (1). For more basic results one may refer Srivastava et al. [12] and references there in.

<sup>1</sup> Department of Mathematics, JSS Academy of Technical Education, Bengaluru - 560 060, India.

e-mail: pnandinimaths@gmail.com; ORCID:https://orcid.org/0000-0002-3151-5563.

e-mail: drlatha@gmail.com; ORCID:https://orcid.org/0000-0002-1513-8163.

\* corresponding author.

§ Manuscript received: April 23, 2022; accepted: August 05, 2022.

TWMS Journal of Applied and Engineering Mathematics, Vol.16, No.1; © Işık University, Department of Mathematics, 2026; all rights reserved.

Next, we recall the definition of subordination between analytic functions. For two functions  $f, g \in \mathcal{A}$ , we say that  $f$  is subordinate to  $g$  in  $\mathbb{D}$ , written as  $f \prec g$  provided there is an analytic function  $w$  in  $\mathbb{D}$  with  $w(0) = 0$  and  $|w(z)| < 1$  such that  $f(z) = g(w(z))$ . It follows from Schwarz Lemma that

$$f(z) \prec g(z) \iff f(0) = g(0) \quad \text{and} \quad f(\mathbb{D}) \subset g(\mathbb{D}), \quad z \in \mathbb{D}.$$

For  $q \in (0, 1)$ , the Jackson  $q$ -derivative of a function  $f \in \mathcal{A}$  is given by (see, for example, [6, 7]):

$$D_q f(z) = \begin{cases} \frac{f(qz) - f(z)}{(q-1)z} & (z \neq 0), \\ f'(0) & (z = 0). \end{cases} \quad (3)$$

Thus from (3), we have

$$D_q f(z) = 1 + \sum_{n=2}^{\infty} [n]_q a_n z^{n-1} \quad (4)$$

where

$$[n]_q = \frac{1 - q^n}{1 - q},$$

and, as  $q \rightarrow 1^-$ ,  $[n]_q \rightarrow n$ .

Recently, Hörzum and Kocer [5] studied the Horadam polynomials  $h_n(x)$ , which are given by the following recurrence relation (see, for example, [4, 11, 3]):

$$h_n(x) = \rho x h_{n-1}(x) + \sigma h_{n-2}(x) \quad (x \in \mathbb{R}; \quad n \in \mathbb{N} = \{1, 2, 3, \dots\}) \quad (5)$$

with

$$h_1(x) = a \quad \text{and} \quad h_2(x) = bx,$$

for some real constants  $a, b, \rho$  and  $\sigma$ . Moreover, the generating function of the horadam polynomials  $h_n(x)$  is given by

$$\Pi(x, z) = \sum_{n=1}^{\infty} h_n(x) z^{n-1} = \frac{a + (b - a\rho)xz}{1 - \rho xz - \sigma z^2} \quad (6)$$

**Remark 1.1.** We record here some special cases of the Horadam polynomials  $h_n(x)$  by appropriately choosing the parameters  $a, b, \rho$  and  $\sigma$ .

- (i) Taking  $a = b = \rho = \sigma = 1$ , we obtain the Fibonacci polynomials  $F_n(x)$ .
- (ii) Taking  $a = 2, b = \rho = \sigma = 1$ , we get the Lucas polynomials  $L_n(x)$ .
- (iii) Taking  $a = \sigma = 1$  and  $b = \rho = 2$ , we have the Pell polynomials  $P_n(x)$ .
- (iv) Taking  $a = b = \rho = 2$  and  $\sigma = 1$ , we find the Pell-Lucas polynomials  $Q_n(x)$ .
- (v) Taking  $a = b = 1, \rho = 2$  and  $\sigma = -1$ , we obtain Chebyshev polynomials  $T_n(x)$  of first kind.
- (vi) Taking  $a = 1, b = \rho = 2$  and  $\sigma = -1$ , we have Chebyshev polynomials  $U_n(x)$  of second kind.

A variable  $x$  is said to have Poisson distribution if it takes the values  $0, 1, 2, 3, \dots$  with probabilities

$$e^{-m}, m \frac{e^{-m}}{1!}, m^2 \frac{e^{-m}}{2!}, m^3 \frac{e^{-m}}{3!}, \dots$$

respectively, where  $m$  is called the parameter.

Thus

$$P(x = r) = \frac{m^r e^{-m}}{r!}, \quad r = 0, 1, 2, 3, \dots$$

Recently, Porwal [9] introduced a power series whose coefficients are probabilities of Poisson distribution

$$K(m, z) = z + \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} z^n, \quad (m > 0, z \in \mathbb{D}).$$

We note that, by ratio test, the radius of convergence of the above series is infinity. In 2016, Porwal and Kumar [10] introduced a new linear operator  $I(m, z) : A \rightarrow A$  which is defined as follows

$$I_m f(z) = K(m, z) * f(z) = z + \sum_{n=2}^{\infty} \frac{m^{n-1}}{(n-1)!} e^{-m} a_n z^n, \quad (m > 0, z \in \mathbb{D}),$$

where  $*$  denote the convolution (or Hadamard product) of two series.

The object of the present paper is to introduce a new subclass of  $\Sigma$  involving the Poisson distribution associated with Horadam polynomials  $h_n(x)$ . We obtain the estimates on the initial Taylor-Maclaurin coefficients and the Fekete-Szegő inequalities for this subclass of the bi-univalent function class  $\Sigma$  defined by means of the Horadam polynomials.

**Definition 1.1.** For  $0 < q < 1$  and  $0 \leq \lambda \leq 1$ , a function  $f \in \Sigma$  is said to be in the class  $\mathcal{H}_{\Sigma}(\lambda, m, x, q)$  if it satisfies the following conditions:

$$\frac{(1-\lambda)zD_q(I_m f(z)) + \lambda zD_q(zD_q(I_m f(z)))}{(1-\lambda)I_m f(z) + \lambda zD_q(I_m f(z))} \prec \Pi(x, z) + 1 - a$$

and

$$\frac{(1-\lambda)wD_q(I_m g(w)) + \lambda wD_q(zD_q(I_m g(w)))}{(1-\lambda)I_m g(w) + \lambda wD_q(I_m g(w))} \prec \Pi(x, w) + 1 - a,$$

where  $a$  is real constant and the function  $g = f^{-1}$  is given by (2).

**Example 1.1.** For  $\lambda = 0$  and  $0 < q < 1$ , a function  $f \in \Sigma$  is said to be in the class  $\mathcal{H}(0, m, x, q) =: \mathcal{S}_{\Sigma}(m, x, q)$  if it satisfies the following conditions:

$$\frac{zD_q(I_m f(z))}{I_m f(z)} \prec \Pi(x, z) + 1 - a$$

and

$$\frac{wD_q(I_m g(w))}{I_m g(w)} \prec \Pi(x, w) + 1 - a.$$

where  $a$  is real constant and the function  $g = f^{-1}$  is given by (2).

**Example 1.2.** For  $\lambda = 1$  and  $0 < q < 1$ , a function  $f \in \Sigma$  is said to be in the class  $\mathcal{H}(1, m, x, q) =: \mathcal{K}_{\Sigma}(m, x, q)$  if it satisfies the following conditions:

$$\frac{D_q(zD_q(I_m f(z)))}{D_q(I_m f(z))} \prec \Pi(x, z) + 1 - a$$

and

$$\frac{D_q(wD_q(I_m g(w)))}{D_q(I_m g(w))} \prec \Pi(x, z) + 1 - a.$$

where  $a$  is real constant and the function  $g = f^{-1}$  is given by (2).

## 2. MAIN RESULTS

**Theorem 2.1.** For  $0 < q < 1$  and  $0 \leq \lambda \leq 1$ , let  $f \in \mathcal{A}$  be in the class  $\mathcal{H}_\Sigma(\lambda, m, x, q)$ . Then

$$|a_2| \leq$$

$$\frac{|bx|\sqrt{2|bx|}}{\sqrt{|(bm^2e^{-m}\phi(\lambda, m) - 2\rho m^2e^{-2m}(1 + \lambda([2]_q - 1))^2([2]_q - 1)^2)bx^2 - 2\sigma am^2e^{-2m}(1 + \lambda([2]_q - 1))^2([2]_q - 1)^2|}}$$

and

$$|a_3| \leq \frac{1}{m^2e^{-m}} \left( \frac{2|bx|}{(1 + \lambda([3]_q - 1))([3]_q - 1)} + \frac{b^2x^2}{e^{-m}(1 + \lambda([2]_q - 1))^2([2]_q - 1)^2} \right),$$

where

$$\phi(\lambda, m) = (1 + \lambda([3]_q - 1))([3]_q - 1) - 2e^{-m}(1 + \lambda([2]_q - 1))^2([2]_q - 1) \quad (7)$$

*Proof.* Let  $f \in \mathcal{H}_\Sigma(\lambda, m, x, q)$ . Then there are two analytic functions  $u, v : \mathbb{D} \rightarrow \mathbb{D}$  given by

$$u(z) = u_1z + u_2z^2 + u_3z^3 + \dots \quad (z \in \mathbb{D}) \quad (8)$$

and

$$v(w) = v_1w + v_2w^2 + v_3w^3 + \dots \quad (w \in \mathbb{D}), \quad (9)$$

with  $u(0) = v(0) = 0$  and  $\max\{|u(z)|, |v(w)| < 1\}$  ( $z, w \in \mathbb{D}$ ), such that

$$\frac{(1 - \lambda)zD_q(I_m f(z)) + \lambda zD_q(zD_q(I_m f(z)))}{(1 - \lambda)I_m f(z) + \lambda zD_q(I_m f(z))} = \Pi(x, u(z)) + 1 - a$$

and

$$\frac{(1 - \lambda)wD_q(I_m g(w)) + \lambda wD_q(zD_q(I_m g(w)))}{(1 - \lambda)I_m g(w) + \lambda wD_q(I_m g(w))} = \Pi(x, v(w)) + 1 - a,$$

or, equivalently, that

$$\frac{(1 - \lambda)zD_q(I_m f(z)) + \lambda zD_q(zD_q(I_m f(z)))}{(1 - \lambda)I_m f(z) + \lambda zD_q(I_m f(z))} = h_1(x) + h_2(x)u(z) + h_3(x)(u(z))^2 + \dots + 1 - a \quad (10)$$

and

$$\frac{(1 - \lambda)wD_q(I_m g(w)) + \lambda wD_q(zD_q(I_m g(w)))}{(1 - \lambda)I_m g(w) + \lambda wD_q(I_m g(w))} = h_1(x) + h_2(x)v(w) + h_3(x)(v(w))^2 + \dots + 1 - a. \quad (11)$$

Combining (8),(9),(10) and (11), we find that

$$\frac{(1 - \lambda)zD_q(I_m f(z)) + \lambda zD_q(zD_q(I_m f(z)))}{(1 - \lambda)I_m f(z) + \lambda zD_q(I_m f(z))} = 1 + h_2(x)u_1z + [h_2(x)u_2 + h_3(x)u_1^2]z^2 + \dots \quad (12)$$

and

$$\frac{(1 - \lambda)wD_q(I_m g(w)) + \lambda wD_q(zD_q(I_m g(w)))}{(1 - \lambda)I_m g(w) + \lambda wD_q(I_m g(w))} = 1 + h_2(x)v_1w + [h_2(x)v_2 + h_3(x)v_1^2]w^2 + \dots \quad (13)$$

It is well-known that, if

$$\max\{|u(z)|, |v(w)|\} < 1 \quad (z, w \in \mathbb{D}),$$

then

$$|u_j| \leq 1 \quad \text{and} \quad |v_j| \leq 1 \quad (\forall j \in \mathbb{N}). \quad (14)$$

Now, by comparing the corresponding coefficients in (12) and (13) and after some simplification, we have

$$[1 + \lambda([2]_q - 1)]me^{-m}([2]_q - 1)a_2 = h_2(x)u_1, \quad (15)$$

$$[1 + \lambda([3]_q - 1)]\frac{m^2}{2!}e^{-m}([3]_q - 1)a_3 - [1 + \lambda([2]_q - 1)]^2m^2e^{-2m}([2]_q - 1)a_2^2 = h_2(x)u_2 + h_3(x)u_1^2, \quad (16)$$

$$-[1 + \lambda([2]_q - 1)]me^{-m}([2]_q - 1)a_2 = h_2(x)v_1 \quad (17)$$

and

$$[1 + \lambda([3]_q - 1)] \frac{m^2}{2!} e^{-m} ([3]_q - 1)(2a_2^2 - a_3) - [1 + \lambda([2]_q - 1)]^2 m^2 e^{-2m} ([2]_q - 1)a_2^2 = h_2(x)v_2 + h_3(x)v_1^2. \quad (18)$$

It follows from (15) and (17) that

$$u_1 = -v_1 \quad (19)$$

and

$$2[1 + \lambda([2]_q - 1)]^2 m^2 e^{-2m} ([2]_q - 1)^2 a_2^2 = (h_2(x))^2 (u_1^2 + v_1^2). \quad (20)$$

If we add (16) to (18), we find hat

$$2 \frac{m^2}{2} e^{-m} \phi(\lambda, m) a_2^2 = h_2(x)(u_2 + v_2) + h_3(x)(u_1^2 + v_1^2), \quad (21)$$

where  $\phi(\lambda, m)$  is given by (7).

Upon substituting the value of  $u_1^2 + v_1^2$  from (20) into the right-hand side of (21), we deduce that

$$a_2^2 = \frac{(h_2(x))^3 (u_2 + v_2)}{2 \{m^2 e^{-m} \phi(\lambda, m) (h_2(x))^2 - m^2 e^{-2m} (1 + \lambda([2]_q - 1))^2 ([2]_q - 1)^2 h_3(x)\}}. \quad (22)$$

By further computations using (5) (14) and (22), we obtain

$$|a_2| \leq$$

$$\frac{|bx| \sqrt{2|bx|}}{\sqrt{|(bm^2 e^{-m} \phi(\lambda, m) - 2\rho m^2 e^{-2m} (1 + \lambda([2]_q - 1))^2 ([2]_q - 1)^2) bx^2 - 2\sigma am^2 e^{-2m} (1 + \lambda([2]_q - 1))^2 ([2]_q - 1)^2|}}.$$

Next if we subtract (18) from (16), we can easily see that

$$2 \frac{m^2}{2} e^{-m} (1 + \lambda([3]_q - 1)) ([3]_q - 1) (a_3 - a_2^2) = h_2(x)(u_2 - v_2) + h_3(x)(u_1^2 - v_1^2). \quad (23)$$

In view of (19) and (20), we find from (23) that

$$a_3 = \frac{h_2(x)(u_2 - v_2)}{2 \frac{m^2}{2} e^{-m} (1 + \lambda([3]_q - 1)) ([3]_q - 1)} + \frac{(h_2(x))^2 (u_1^2 + v_1^2)}{2m^2 e^{-2m} (1 + \lambda([2]_q - 1))^2 ([2]_q - 1)^2}.$$

Thus, by applying (5), we obtain

$$|a_3| \leq \frac{1}{m^2 e^{-m}} \left( \frac{2|bx|}{(1 + \lambda([3]_q - 1)) ([3]_q - 1)} + \frac{b^2 x^2}{e^{-m} (1 + \lambda([2]_q - 1))^2 ([2]_q - 1)^2} \right).$$

□

In the next theorem we discuss Fekete-Szegő inequality for  $f \in \mathcal{H}_\Sigma(\lambda, m, x, q)$ .

**Theorem 2.2.** For  $0 < q < 1$ ,  $0 \leq \lambda \leq 1$  and  $x, \mu \in \mathbb{R}$ , let  $f \in \mathcal{A}$  be in the class  $\mathcal{H}_\Sigma(\lambda, m, x, q)$ . Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{2|bx|}{m^2 e^{-m} [1 + \lambda([3]_q - 1)] ([3]_q - 1)}; \\ \left( |\mu - 1| \leq \frac{[bm^2 e^{-m} \phi(\lambda, m) - 2\rho m^2 e^{-2m} (1 + \lambda([2]_q - 1))^2 ([2]_q - 1)^2] bx^2 - 2\sigma am^2 e^{-2m} [1 + \lambda([2]_q - 1)]^2 ([2]_q - 1)^2]}{m^2 e^{-m} [1 + \lambda([3]_q - 1)] ([3]_q - 1) b^2 x^2} \right) \\ \frac{2|bx|^3 |\mu - 1|}{[bm^2 e^{-m} \phi(\lambda, m) - 2\rho m^2 e^{-2m} (1 + \lambda([2]_q - 1))^2 ([2]_q - 1)^2] bx^2 - 2\sigma am^2 e^{-2m} [1 + \lambda([2]_q - 1)]^2 ([2]_q - 1)^2}; \\ \left( |\mu - 1| \leq \frac{[bm^2 e^{-m} \phi(\lambda, m) - 2\rho m^2 e^{-2m} (1 + \lambda([2]_q - 1))^2 ([2]_q - 1)^2] bx^2 - 2\sigma am^2 e^{-2m} [1 + \lambda([2]_q - 1)]^2 ([2]_q - 1)^2]}{m^2 e^{-m} [1 + \lambda([3]_q - 1)] ([3]_q - 1) b^2 x^2} \right). \end{cases}$$

*Proof.* It follows from (22) and (23) that

$$\begin{aligned} a_3 - \mu a_2^2 &= \frac{h_2(x)(u_2 - v_2)}{2 \frac{m^2}{2} e^{-m} (1 + \lambda([3]_q - 1)) ([3]_q - 1)} + (1 - \mu) a_2^2 \\ &= \frac{h_2(x)(u_2 - v_2)}{2 \frac{m^2}{2} e^{-m} (1 + \lambda([3]_q - 1)) ([3]_q - 1)} \\ &\quad + \frac{h_2(x)^3 (u_2 + v_2) (1 - \mu)}{2 \left[ \frac{m^2}{2} e^{-m} \phi(\lambda, m) (h_2(x))^2 - m^2 e^{-2m} (1 + \lambda([2]_q - 1))^2 ([2]_q - 1)^2 h_3(x) \right]} \end{aligned}$$

$$= \frac{h_2(x)}{2} \left[ \left( \Omega(\mu, x) + \frac{1}{\frac{m^2}{2} e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1)} \right) u_2 + \left( \Omega(\mu, x) - \frac{1}{\frac{m^2}{2} e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1)} \right) v_2 \right],$$

where

$$\Omega(\mu, x) = \frac{(h_2(x))^2(1 - \mu)}{\frac{m^2}{2} e^{-m} \phi(\lambda, m)(h_2(x))^2 - m^2 e^{-2m} (1 + \lambda([2]_q - 1))^2 ([2]_q - 1)^2 h_3(x)}.$$

Thus, according to (5), we have

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{2|bx|}{m^2 e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1)} \\ |bx| |\Omega(\mu, x)| \end{cases} \quad \begin{aligned} 0 \leq |\Omega(\mu, x)| &\leq \frac{2}{m^2 e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1)} \\ |\Omega(\mu, x)| &\geq \frac{2}{m^2 e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1)}, \end{aligned}$$

after some computation, we obtain

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{2|bx|}{m^2 e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1)}; \\ \left( |\mu - 1| \leq \frac{2|bx|}{m^2 e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1)} \right); \\ \frac{2|bx|^3 |\mu - 1|}{m^2 e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1) b^2 x^2} \left( |\mu - 1| \geq \frac{2|bx|}{m^2 e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1)} \right); \\ \frac{2|bx|^3 |\mu - 1|}{m^2 e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1) b^2 x^2} \left( |\mu - 1| \geq \frac{2|bx|}{m^2 e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1)} \right). \end{cases}$$

□

Putting  $\mu = 1$  in Theorem 2.2, we obtain the following result.

**Corollary 2.1.** For  $0 < q < 1$ ,  $0 \leq \lambda \leq 1$  and  $x \in \mathbb{R}$ , let  $f \in \mathcal{A}$  be in the class  $\mathcal{H}_\Sigma(\lambda, m, x, q)$ . Then

$$|a_3 - a_2^2| \leq \frac{2|bx|}{m^2 e^{-m} [1 + \lambda([3]_q - 1)]([3]_q - 1)}.$$

**Remark 2.1.** We can derive analogous results for normalized analytic and bi-univalent functions in the class  $\mathcal{H}_\Sigma(\lambda, m, x, q)$  associated with the Poisson distribution series by taking some or all of the particular cases of the Horadam polynomial as shown in Remark 1.1 and using the same technique as in Section 2 above. Furthermore the results can be deduced by appropriately specialising the parameter  $\lambda$  for the subclasses  $\mathcal{S}_\Sigma(m, x, q)$  and  $\mathcal{K}_\Sigma(m, x, q)$ , which are defined in Example 1.1 and 1.2 respectively.

**Acknowledgement.** The authors would like to thank the referees for their valuable comments and suggestions.

## REFERENCES

- [1] Abirami, C., Magesh, N. and Yamini, J., (2020), Initial bounds for certain classes of bi-univalent functions defined by Horadam polynomials, Abstr. Appl. Anal.
- [2] Duren, P. L., (1983), Univalent functions, Grundlehren der Mathematischen Wissenschaften, Springer-Verlag, New York.
- [3] Frasin, B. A., Sailaja, Y., Swamy, S. R. and Wanas, A. K., (2022), Coefficient bounds for a family of bi-univalent functions defined by Horadam polynomials, Acta Comment. Univ. Tart. Math., 26 (1), pp. 25-32.
- [4] Horadam, A. F., Mahon, J. M., (1985), Pell and Pell-Lucas polynomials, Fibonacci Quart 23, pp. 7-20.
- [5] Hörcum, T. and Koçer, E. G., (2009), On some properties of Horadam polynomials, Internat. Math. Forum. 4, pp. 1243-1252.
- [6] Jackson, F. H., (1908), On q-functions and a certain difference operator, Trans. R. Soc. Edinb, 46, pp. 253-281.

- [7] Jackson, F. H., (1910), On q-definite integrals, Q. J. Pure Appl. Math. 41, pp. 193-203.
- [8] Orhan, H., Mamatha, P. K., RudraSwamy, S., Magesh, N. and Yamini, J., (2021), Certain classes of bi-univalent functions associated with the Horadam polynomials, Acta Univ. Sapientiae, Mathematica, 13 (1), pp. 258-272.
- [9] Porwal, S., (2014), An application of a Poisson distribution series on certain analytic functions, Jour. Comp. Anal., Art. ID 984135, pp. 1-3
- [10] Porwal, S. and Kumar, M., (2016), A unified study on starlike and convex functions associated with Poisson distribution series, Afr. Math., 27, pp. 1021-1027.
- [11] Shammaky, A. E., Frasin, B. A. and Swamy, S. R., (2022), Fekete-Szego inequality for bi-univalent functions subordinate to Horadam polynomials, J. Function Spaces, Article ID 9422945, 7 pages, <https://doi.org/10.1155/2022/9422945>.
- [12] Srivastava, H. M., Mishra, A. K., Gochhayat, P., (2010), Certain subclasses of analytic and bi-univalent functions, Appl. Math. Lett. 23, pp. 1188-1192.



**Dr. P. Nandini** received her M.Sc. degree in Mathematics from University of Mysore, on 2009. At present, she has been working as an assistant professor in the department of Mathematics at JSS Academy of Technical Education, Bengaluru. Her areas of interest are Geometric function theory and Number theory.



**Dr. S. Latha** has been an avid academician and a research oriented mathematician for over 4 decades. Post graduate degree in Mathematics at the young age of 19 ignited passion and interest in this field. Identified key areas of focus are Geometric function theory and Fuzzy topology. As she explored and gained expertise in her focus area, she inspired younger generation to take up interest in these fields resulting 150 + publications in more than 60 nationally and internationally claimed journals. 16 scholars have completed their Ph.D degree under her guidance. She continues to serve as referee in various reputed journals.